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The figures in the margm indicate full marks
for the questions.

Answer either in Enghsh or in Assamese

RS oy =S Sey
-(a)’ State .whether the followmg statements are .
true or false : ' 1x5=5

Wﬁ%ﬁﬁw CGTWEWRV

(i) To be ‘ans ordmanly resident’, an-
individual must satisfy both the addi-
tional conditions besides satisfying any
one of the basic condltlons
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(i) ‘The assets like arcﬁaelogical collec-
tions, drawings, paintings etc. are not
liable to tax."

oo e, ﬁ:ft o35 =i
ToifeR FIEW T=J| |
(iii) Dividends and ihteresf on securities are
charged to tax under the head 'Income
from other sources'.

o _W‘@twmeﬂ«ﬁ@w
: @Q’H"ﬁt@lﬂ ﬂm.meﬂu

" (iv) Sum. of various heads of income is
‘called ‘Total Income’.
R RoiRe Rl W @TW?F :{b
I @TCF'II :

(v) An individual who is ‘resident in India’
and an individual who is ‘non-resident
in India’ pay income tax at the same
rate. | '
B AP o e "@R@a
| GIPR GF TS W Rty
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- (b) Choose the correct alternatives :  1x5=5

@ﬁﬁmaawﬁw

(i) A senior citizen resident is one whose

age is :

g mm DIRIEN aﬁw‘t W RIS

m g

(a) .,6'5 yeérs or more but below 80
years o
65 =1 A ofFT e 80 I=T IW

(b) 60 years or more but below 80
years ’

60@31&?%%@80@@

(c) 70 years or more but below 80

years

70@?1@?@%&580%%11'

. (d) None of the above.
i @Ry qBle TF
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(ii) Interest credited in Recognised Provi-
dent Fund Account is exempted upto :

TSl elie SRUAR Rote s @Rl
Yo GRTT 1 (72 A ZQCQ

@ % (9 elefte)

() 95% (9:5% =TeIxitaice)

(@) 10% - (10% *eicetere)

@ 12% (12% oreiters)

~

(111) The base of computation of income

. under the head “Income ﬁom house

property”

)

“sjqwﬂwﬂmm ﬁmwsfm'

fofe ta= ¢
@ Mumcxpal value
| PoReRRE FERe U
(b) Rent received
(c) Standard rent
A

7

(d) Annual value
T T
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. C(@iv) Deductlon under section 80(C) is
v ' applied on : '
80(C) ¥R wrwsfe w6 oI W 3

(a) Individual and Hmdu undivided
family

‘WWW%{W
8IS :

® Fim
SIS efSHiT esge
(c) Company |
RN 89S
(d) All of the above-
G SIGIRCINT BTG

(v) On which income deduction under :
section 80G is not allowed ?
. e @R TR wRER YR 80G UINN
© oo T SIS aﬁ ? :
(2) Salary (=D |
. (b) House property (5% *I"*ﬁ%) 3
(c) Long-term capital gains
R e
(d) None of the above.
@] «oI8 =
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2. Give shott_ answers to the following questions :

oo eniReTed oY, Sed fam g

@

(b)

(©

2x5=10

Who .is an assessee in-default ?

~ Assessee in-default @?F[ ?

Name' the deductiqns allowed from annuél

value while computing income from house

property.
qqmlﬁﬁwwemm cvare S TN

'wﬁsﬁsmwww«n

'Who is a specified employee ?

(d) Mention any two perquisites which are

)

taxable for all employees.

s IR TR Y Eﬁ& perqulsltes
T 9

'Name the persons as stated in section 2(31).

of Income Tax Act, 1961.-

1961 5= SEe SiEE 4l 2(31)@ e
e W e w1
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3. Give brief answers .t’o. any four questions :

i

@

| R CoI SR e Sifre et 1 ¢
(@)

)

@

5x4=20

What is PAN ? Mention the cases under
which PAN is compulsory.

PAN & ?%%WPANQWw
F

What is partly agncultural income ? Give
examples.

swﬁR5§ﬁ§Nnmai% ?imm@rﬁmu

State the consequences of ‘Best Judgement
Assessment’. '

mﬁﬁmmﬁ@m’awﬁmﬂW|

* When does the liability to pay advance tax
‘arise ? How it is calculated ?

a3 S EAEN OEd GO = 2
WS @ RE R 2

(e) Explqin. the rfxeaning of ‘Business and

Profession’.

T e gt e TR
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(f) Mr. Chetla furmshes the following particu-
lars: of income for the prev1ous year
2017-18:

- 2017-18 WW&’I 51S S csﬁmi
TN ST SUAPTR @GN 4T 8
,(1) Income from agnculture in India
~ Rs.30,000.
STy FRTS W 30,000"'s'asn

~(ii) Royalty received from Government of
. India Rs. 2,25,000.

wwwm@mﬁﬁzzsow

ko

(iii) Income from business, earned in

Afghanistan Rs. 1,70,000.
IFaFgEe W °i71 &F 1,70,000
- B

(1v) Incomé accrued in Bhopal but received
in Singapore Rs. 20,000.

- coMieTe AR T8 PRaliste o

" 20,000 Tt |

(v)  Income from agriculture. in Pa‘kistan}

. Rs.15,000.

mﬁr@aﬁ@ qsﬁgﬁﬁ +/t W 15,000
Bl
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Compute Mr. Chetlas gross total mcome if
he is

@wm%wﬁzﬁmwﬁm

@ resident

aﬁﬁﬂﬁs\zx

(11) not ordmanly resident and ,
mam@m P =, vsna» \

(iil) non—re31dent

W-?ﬂﬁ“ﬂ 33r|

4 Answer any four from the followmg 10x4=40 .

ﬁﬁ%ﬂwﬁmvﬁmwﬁm

(a) M. Ghotala is employed in a cotton textile mill
~ at Bangalore. He furnishes the following
particulars for the previous year 2017-18:

A= caibret ca\enqwmswﬁmﬁﬁ

2 | cod 2017-18 ST IWER IS
O SR (A 43 ,

. (l) Basic salary Rs. 25 000 per month
o1 v & 25,000 5 snfiﬁ‘n

(ii) Dearness alloWance" Rs. 6,000 per -
month.

Www 6,000 531
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- _(iii-) Bonus : Two months basic salary :

3G ¢ YA Y& [O

(1v) Entertamment allowance : Rs. 2,000 p.m.
-2 oSt 3 MR 2,000 Bt

(v) House rent allowance : Rs. 5, 000 p.m.
= oIl wsr T 5,000 G|

'(v1)«Comm1ssmn based on turnover
~achieved : Rs. 40,000.

- RFR 8ok asﬁmz 40,000 |

(vii) Travellmg allowance Rs 1,000 p.m.
(80% spent) |
T otel ¢ mf‘ﬁ?rlooo?m(w% {6
= |

(viii) He has = been’ provided with gas,
electricity and water facility and
‘employer spent Rs. 15,000 on them.
(odT o5, ReEnt =% TR R ene
wﬁmmﬁmﬂw‘alsom 5l
<95 IE|

(ix) Employer's contribution to Récognised' |
Provident Fund : 15% of salary.

Wﬁt@@ﬁmﬁ%ﬁmmawﬁw |
29 15% g
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(b)

(x) He paid Rs. 6,000 per month as rent
- of the house occupied by him in

- Bangalore. :
(O TS AF  RETFS SRS
WOR IR S8 WEEAL 6,000 S W)
Compute his Gross total income under

the head 'Salaries' for the assessment 4

year 2018-19.

2018-19 39 et IR AR TR
fome dex o5 Wi Fatw T

Describe the manner and procedure of -

computing long-term capital gains. What are

“the deductions and exemptions available

from capital gains under section 54 ?

IR 7T oI S 4= S RS Tl

1154 4N SIS A W AN CRAS

(©)

d

What do you mean by advance payment of

‘tax ? Explain the consequences of non-

payment of advance tax by an assessee.

RN 3 S e & TS ¢ IS G
RN 7 Ty Afe & AR R =
A Y F/]W 1

Kabya owns a house in Guwahati. During

S 4 ) -
. the previous year 2017-18, 3rd portion of

(1.1') o [Turn over




the house was self-occupied and %rd
. portion was let out for residential purpose
- at arent of Rs. 8,000 per month. Municipal
value of the property is Rs. 3,00,000 per
annum, fair rent is Rs. 2,70,000 per annum
- and standard rent is Rs. 3,30,000. He paid
o mumcnpal taxes @ 10% during the year. A
loan of Rs. 25,00,000 was taken by him

during the year 2015 for acquiring the

property. Interest on loan paid during the
year 2017-18 was Rs. 1,20,000. -

TR SRS . I TR | ST T
2017-18% TIBIR % e IR e TS

[ A %w TR 8,000 T ARYS

oiore | Taiir IR N9 T 3,00,000
B, A1 U 1@t 2,70,000 5, W e
et (standard rent) 3,30,000 B Cod
. ¥q0R IRW 10% T© TR F9 o few )
2015 57® (o€ TICHt Qe [T 25,00,000

W@ﬂqmw@umﬁm«ew"‘

Réw IF 2017-18s (o€ 1,20, 000 5 W
SRy TR

Compute Kabya's Income ‘from house

property for the assessment year 2018-19.
1 Rt 712018197 IR I BT

@S TR E [gied 9
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(e) "Explam the 'meanmg of ‘Deduction of tax

®

at source’. Give a list of payments which
are subject to deduction of tax at source..
BoTe T TEW WL TP FA R
AReNR cvae Tows 79 FEW Y =
= m T Sl oEe Lol

Write short notes on any two of the
following : "

‘Wﬁm@awm.mz

(1) Regular assessment

Rafic =1 Rael

(i) On-lme filling of retum

(m) Defective return of income

asf%-vffwam\

(iv) Re-assessment.

AR I [l
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